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Time: 10 Minutes Paper Math 8 (T-4) Total Marks: 10

2nd Month, 2nd Week, 4th Day Exercise 1.6 Q # (4,5)

Q.1. Choose the correct options. (1x 4 =4) - /C'A’s:'l(?lzc/»
(i) What is the value of A — B of A = {1,2,3,4,5,6} and B = {2,4,6,8} =

e el U A - BB = {2,4,6,8) #A = {1,2,3,4,5,6}1

(a {1,3,5} Mb)| {1,468} ©] {1,2,34,5} (@] {2.4,6,8}

-

(i) A={1,2,3,4,56) and B={2,4,68 B-A="?

@ {1,357y |(b) 2,4,6} (© {8} @| {1,2,4,5,7,8}

(i) If C = {1,2,3,4,5,6,7,8} and D = {2,4,6,8,10} then C —D = ?

-/ C-DID = (2,4,68,10) 1 C={1,2,3,4,56,7.8 /1

(@) [{1.2,3.4,68,105| ()| {2,579} [(0)| {1.4,6,8,10} |(d)| {1,3.5,7}

N~

(iv) IfL = {1,3,4,7,9,11} and M = {2,3,5,7,11} then find L - M = ?

_‘_g/r)”L ~ M M = {2,3,5,7,11} »IL = {1,3,4,7,9,113 1

(a) {1,9} M) {1357} |(@©| {46911} [@]| {23,511}

¥ Answer the following questions: (1x2=2) - ;ylﬁéaﬂb’gj’ 3l
Q.2. If A= {1,3,5,7,9,11} and B {2,3,5,8,9,11} then find i) A—B (i) B—A

_Q:)/()l"‘?nB {2,3,5,8,9,11} .») A=1{1,3,5,7,9,11} A

Q.3. Verify De - Morgan law if. “)
U= {1,2,3,.......... 15} A {1,3,5,7,9,11,13} and B = {2,4,6,8,10,12,14} verify

Through Venn Diagrams also.
A {1,3,5,7,9,11,13}. U = {1,2,3,.......... IS}f/!L[/:«:E‘/u)GLUCLLﬁ
U P JBIUIB = (2,4,6,8,10,12,14}
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Q.1. Choose the correct options. (1x 4=4) - /’/..,al‘st'l&.«b?://;
(i) What is the value of A — B of A = {1,2,3,4,5,6} and B = {2,4,6,8} =

fe e U §A— BB = {2,4,6,8) »IA = {1,2,3,4,5,61./1

(a) {1,3,5} ()| {1.4,6,8} (c

N—'

{1,2,3,4,5} |(d)| {2,4,6,8}

(i) A={1,2,3,456} andB={2,4,68 B-A=?

(a) {1,3,5,7} | (b) 2,4,6} © {8} @| {1,2,4,5,7,8}

(iii) If C={1,2,3,4,5,6,7,8} and D = {2,4,6,8,10} then C-D =?

_q/r)’* C— DD = {2,4,6,8,10} sl C={1.234,5,6,7.8

N—'

(a {1,4,6,8,10} [(@)| {1.3,5,7}

N’

{1’253545658910} (b) {27’597’9} (c

(iv) IfL = {1,3,4,7,9,11} and M = {2,3,5,7,11} then find L - M = ?

P

P L - M M = (23,5711} 1L = {1,3,4,7,9,11} 1

(a) {1,9} M) | {1357} (c {4,69,11} (@ {2,3,5,11}

~—'

Y Answer the following questions: (1x2=2) - )?mé.wm}” 3 1O%)
Q.2. If A={1,3,5,7,9,11} and B {2,3,5,8,9,11} then find ) A-B (i) B-A

_L[)/r;""‘?ﬁB {2,3,5,8,9,11} .sl A ={1,3,5,7,9,11} A

Q.3. Verify De - Morgan law if. 4)
U={1,2,3,.......... 15} A {1,3,5,7,9,11,13} and B = {2,4,6,8,10,12,14} verify

Through Venn Diagrams also.
A {13,5,7.9,11,13081 U = (1,23 e 15 S Seertd 6L S
Sk BB = (2,4,6,8,10,12,14)



